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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate wili themself be responsible for filling wrong
Roll No

. At the start of the examination before attempting the
question paper: kindly check your test booklet:and
OMR Answer Sheet and ensure that ;

The serial numbers of test booklet and OMR answer
sheet are same.

All pages of test booklet and OMR answer sheet are
properly printed. All questions from S.No. 1 to last
S.No. 150 are printed and pages from S.No. 1 to last
S. No. 24 are there in the question booklet.

In case of any discrepancy / defect the candidate should
immediately report the matter to the invigilator for
replacement of test booklet and OMR answer sheet. No
claim / objection in this regard will be entertained after
five minutes of start of examination. Candidate will be
liable for it.

. Answer all questions.

. All questions carry equal marks.

... Only one answer is to be given for each question.

.- If more than one answers are marked, it would: be

treated as wrong answer.
Each question has four alternative responses marked
serially as (A), (B), (C), (D). You have to darken only
one circle or bubble indicating the correct answer on
the Answer Sheet using BLUE BALL POINT PEN.

.- 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. (A wrong answer
means an incorrect answer or more than one answers
for any question).

... Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly

prohibited. If any such prohibited material found with

any candidate, strict action will be taken against him/
her as per rule.

- If there is_any sort of ambiguity/mistake either of
printing or factual nature in Hindi and English Version
of the question, the English Version will be treated as
standard.

Warning : If ‘a candidate is found copying or if any
unauthorized material is found in his/her possession, F.L.R.
would be lodged against him/her in the Police Station
and he/she would liable to he prosecuted under Section
3 of the State Prevention of Unfair means Act, 1992
and Board Regulations. Board may also debar him/her
permanently from all future examination of the Board.
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The mean deviation from the median for
the following data is -
34, 66, 30, 38, 44, 50, 40, 60, 42, 51

2 T eifwel % g it %r ey T
¥

34, 66, 30, 38, 44, 50, 40, 60, 42, 51
(A) 8.7 (B) 8.8

(© 89 (D) 9.0

The mean and median of a frequency

distribution are 52 and 55 respectively.

What is the mode of the distribution ?
Tt omgf omeew W wiem qun HiiaeR
I 52 AT 55 ¥, W AET W IEASR
wE ? |
(A) 61 B) 53.5
©53 (D54

Two identical cubes each of volume

64 cm? are joined together end to end to

form a cuboid, the total surface area of
 the cuboid is -

(A) 80 cm? (B) 160 cm?
(C) 320 ¢m? (D) 640 cm?
<Y T O FTE%H Tl BT ST 64 P
% % o) 9 WEHT TH g9 Sl S
£, @ T H P IO AT § -
 (A) 80 T2 (B) 160 T2
 (©) 320 &2 (D) 640 T2

~ The total surface area of a cube is 1014
square meter. What is the length of its
side 7

(A)6m (B) 169 m

(©) 13m D) 1llm

@ W H Ty g dvew 1014 i
A ¥ | g W e @ e R 7
(A) 63 (B) 169 7

©) 13/ (D) 11 W
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The diameter of a circle is '105 cm less
than its circumference. The radius of the
circle is -

(A) 22 em (B) 23 cm
(C) 24 cm (D) 24.5 cm
T I B A SEH! Ry ¥ 105 I B
T, A g B g -
(A) 22 g9 (B) 23 ¥
(C) 24 g (D) 24.5 T

An observer 1.5m tall is 20.5m away - |
from a tower 22 m high. The angle of
elevation of the top of the tower from the
eye of the observer is -

1.5 it wea Yewes 22 W S AR ¥ 205
X ¥ | Y @ SifE ¥ X % A A
ST B T -

(A) 30° (B) 45°

- (C) 60° D) 75°

The value 50° in radians is -

s0m T A AN ¥ -

(A) 50m ®B) 5=
2. 2.

© 3 ®

The ratio of curved surface area of two
spheres is 4 : 9. What is the ratio of their

(. 22

volumes ? (75 -7)
A il 3 % TERT ST B ST 41 9 ¥
22\
mmmmw% ?( = 7) _

(A) 9:4
() 8:27

B) 8:9
(D) 27:8
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A cylinder has base radius 7 cm and height
10 cm. What is the volume of a cylinder ?

(A) 1540cm®  (B) 770 cm?

(© 770zcm® (D) 1500 cmd |
TH 909 & o # Browr 7 @ aw
SO 10 9 T | SO o7 oTeeT ¥ 7

A) 1540887 (B) 770 T
© 770 & (D) 1500 &3

The radius and the height of a cone are in
the ratio 1 : 3 and its volume is 1078 cm3,
then its diameter is -

(A) 3.5 cm B) 7cm

© l4cm (D) 21 cm

T 9fg Wl Freur ua g e o 13
qAT 3HHT AT 1078 I}, a9 swm
| T -
(A) 3.5 a9
() 14 3

(B) 7 99
(D) 21 a9

If a=1 and b =1 is a solution of the
equation 5@ + p =17b, then the value of

pis-
g a=1 R b=1, Ww

5a+ p=17b % TF & ¥, 79 p @

A 5
©) 11

B) 7
D) 12

Solution of the equation
(4+a)(5-a)

Cidl o °

(4+a)(5-a) .
T
@) a= ®) a=-

€ a=

IT €”g INDIRESUL

@) a=-
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Base of a hémisphere, a cylinder and a
cone is equal and also the heights are same.
The ratio of their volumes is -

TH o W, Th S q°1 UF A B
ST T a4 FarE o qUae & 1 57%

ST T ST & —
(A)1:2:3 (B 2:3:1
(€)3:2:1 D)2:1:3

A metallic sphere of radius 2.1 cm is
melted and reset into sphere ball of half
radius of origin sphere. How many such
spherical balls can be made ?

T urg H e 2.1 9 B w ¥ R
fraeret Sud onell P & e W
T € | OE foraet Memeee W% o9 9
¥ ? '

A) 2 B) 4
© 6 D)8
The square root of 3025 is -
3025 @1 A & —

(A) 35 (B) 45
(©) 55 D) 65

indiresult.in whatsapp - 9352018749
Water in a canal, 6m wide and 1.5m deep,
is flowing with a speed of 10 km/h. If
8 cm of standing water is needed, then
how much area will it irrigate in -
30 minutes ?

(A) 56.25 hectares (B) 91.47 hectares
(C). 80.76 hectares (D) 76.56 hectares

T 6 1 =Y oY 1.5 M el e § U
10 knvh ! 7T @ 95 o1 ¥ | Gl 8 A
WX O Ul Aifeq af 3 30 free # feam
f%e ol Ri=s el ?

(A) 56.25 TRUT

(B) 91.47 ¥@AT

(C) 80.76 TR

(D) 76.56 ¥

[PTO.
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5 5 } l 20  The perimeter of a certam sector of a circle
17 (4x +4x-—3) _ 9

is equal to the length of the arc of a
T semicircle having the same radius, then
(A) (2x-1)(2x-3) , the angle of the sector in degree is-
®) (2x+1)(2x-3) (n___%_%\ :
1)

C) (2x+3)(2x-1 ~ :
e e | u a % Prived Prewgrs & oRe,
(D) (2x +1)(2x+3) ‘ o % rdaT & O A WER % TONT
| % ot Prergee w1 Bw R A ¥ -

18  The cube root of 2197 is —

2197 %1 T T — 7/ | .
A) 23 (B) 17 (A) 65°27 16"  (B) 65° 45' 45"
(©) 19 . 1B (C) 65°5' 11" (D) 65° 45' 5"

The three vertices of a paiallelogram taken
in order are (0, 1), (2, 3) and (4, 3)

19 Study the given line graph carefully to

answer the question : respectively, then the coordinates of the

WWWWWWWW{ fourth vertex is - .

U9 Bl IT © ¢ et TR SIS % T AT SN
©,1), 2, 3) T4, 3) ¥ 79 9% i &
frdati ¥ —

4 @D @) 1,2
© 2. 1 ®D) (2,-D

22 What would be the printed price of 2 wall-
l clock purchased at ¥ 380, so that after
giving 5% discount, there is 25% profit ?

r s S TE) w1 siftea R @ B aik
1 L N m 0,
O 011 2012 2013 W o e 2:‘3 W; 3?80 P SHE D
(@) Years — BILS o W
(A) Z 400 (B) T 450
(©) Z 500 (D) T 600

What is the percentage increase in export 4
from the lowest to the highest for the given | 54 mndiresulin Whatsapp 93520?()%749

9 If birth rate and death rate of a city 1s
yean each, what will be the approximate
ﬁ:&v&a‘sﬁﬁ'«ujﬁq g e |

population of the city after 2 years, if
P fr vy B gfe g5 & 7 current population is 3000 ?
(A) 200%

off TF JET B T & a1 TG T TD
(B) 250% 10%% 1 2 9 & 915 STEX %l T TTTHE
(C) 300%  °

1 2 aft adHm e 3000 ® 7
(D) 400% (:7(9 INDIRESULTE

(A) 2940 (B) 3060
YOUR SUCCESS PARTNER (C) 3630 ' (D) 3000
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Area of piece of a canvas is 1105 m2. A
conical tent is to be made by canvas with
base area 616 m?2. Assuming that all the
stiching margins and the wastage incurred
while cutting, amounts to approximately
5 m2, then the height of the tent is -

(A) 20.71 m (B) 24 m
(C) 1820 m D) 21 m
T A % THS BT AABA 1105 F2 ¥}
T A § 1P 6 I B AY T ¥
g% oMU *1 &% 616 W2 T | O%
A g2 fop Raeg o werd & s 5 W2
HTAE T AT BN | oY B B ¥ -
(A) 20.71 5 (B) 24 W
(C) 18.20 W (D) 21 @

If P(t) is a polynomial of degree n > 1 and
(r—2) is a factor of P(t), then P(2) is -

@AKo

@) (t-2)

() 2

(D) Can not be determined

A P(t), » > 1 9T &M 9IS & A (1 - 2),
P(t) %1 T% M@TS ¥, 99 P(2) ¥ -
(A) 0 |

®) (r-2)

© 2

(D) ¥ el AT S weh

1 1
The value of (250047)A ——(13824)A
is - '
(250047)% —-(13824)% A T —

(A) 23 - (B) 29
© 33 (D) 39
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The area of a circular ring enclosed
between two concentric circles is 286 cm?.
What are the radii of the two circles if
their difference is 7 cm?

(A) l4em, 7cm (B) 10cm, 3 cm
(© 12cm,5cm (D) 13 em, 6 cm
<1 T gl & e IEE TH g
IAY H GAGA 286 WA T | S g4 B
Broard w0 § ot Ser st 7AW T ?
(A) 14 39, 7 90 (B) 10 ¥, 3
(C) 128, 580 (D) 13 941, 6 I

Area of the smallest square that
circumscribe a circle of area 616 cm

(A) 784 cm? (B) 824 cm?
(C) 864 cm? (D) 764 cm?
39 B § B O @1 4G w1 B W
616 T ¥ FTFE AW IA B A
T e ? ‘
(A) 784 912
(C) 864 A2

can
is -

(B) 824 {2
(D) 764 T2

Out of ¥ 20,000 Narendra gives some
amount on loan at simple interest rate 8%
per annum and rest amount at simple

4
interest rate 5-% per annum. At the end
of year he earns ¥ 800. The amount given
at 8% rate will be -

Tx 20,000 # & 3B RN s%ﬁmrm

e s R T ST S TR {3‘-%@

[T 1ffer <A G U SR A ¢ 19y
% o H 38 T 800 = g iRt B ¥
8% =9 8T 9T TUR § T ufyr B —
(A) T 8,000 (B) ¥ 6,000
(C) T 10,000 (D) T 12,000
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30 Tonu invested 10% more than the | 34 If A, B, C are the angles of a triangle,

investment of Monu and Sonu invested then the value of
10% less than the investment of Monu; If tan(B+C)+tan(C+ 4) + tan(4+B) |
the total investment of all the three persons tan (z — 4) + tan(7 — B) + tan(n - C) |

is ¥ 60,000, the investment of Monu is = .
is equal to -

3, ALY 10% T Prde wr ¥ e TR A, B, C ft Brget % =i &, @@
|, A | 10% %9 Fras st § | 9k tan(B+C) + tan(C+ A) + tan (4 + B)

ﬁaﬁaﬁmwﬁﬁﬂﬂo,ooﬁ,ﬁ tan (7 — 4) + tan(x — B) + tan (- C)
a1 PRAg ¥ - A
1 AE AT ¥ -
(A) % 10,000 (B) T 20,000 (A) 0 B) 1
(C) 230,000 (D) T40,000 ~ .
© % (D) tan (A+B+C)

31 How many cubes of 25 cm edge canb it & .
put in a cubical box of 1 m edge? 35 In the adjoining ligute, ~ADE - /B,

| & Ret A T R A, 25 T AE=8cm, EB=7cm, BC=9cm,
L AD=10cm and DC=2cm, then the
. . ,
Tt ol fopet o @ S owed ¥ 7 lenit DE s .
)4 B) 16 ‘
(©) 32 D) 64

32 If point A (. 3) is equidistant from the
point B (3, —4) and C (-2, 0) then - « ..

coimmgintm- | B c
(A) 4x-8y=16 | | Wl (B) 6-cm
""" (C) 6.75 cm (D) 7.8 cm
M w iy go R’ ¥ ZADE = /B, AE=83dW,
€ s &2 o EB=7%, BC=9d, AD=103
D) 10x+8y=16 qu DC=2 &, 99 DE & @ ¥ -~
A

33 The value of (423801)% +(22801)%; |

is - D

(423801)% + (22801)% ® AT § -

(A) 902 B 912 / e ¢

(C) 802 (D) 812 (A) 2.1 99 (B) 6T

© 6758 (D) 7.8 %

111 @lNDlRESULTE ® indiresuttin whatsapp - 9352015749
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Two parallel lines AB and CD are
intersected by a transversal EF at M and
N respectively. The lines MP and NP are

the bisectors of interior angles /BMN

and ZDNM on the same side of the |-

transversal. Then ZMPN is equal to :

o frdw Y@ BE, @ g Y@l AB |
qUT CD &Y HHI: M a N UT el 8 | s
Y@rd MP qn NP, fordes Tar & us &1 ain |-

Rerg arafte @vf  ZBMIN dem ZDNM
% otefes ¥ 1 A B AMPNWW%—

.
. .

.
a*
2
e
.

. A —3D
Ce— /N
F
(A) 45° B) 60°
(©) 90° (D) 120°

38

A passenger train takes 2 hours less for a

journey of 300 km if its speed is increased
by 5 km/hr from its usual speed. The usual
speed of train is -

(B) 30 km/hr

(A) 25 km/hr

(C) 15 km/hr (D) 20 km/hr ’

300 Pt ot @ wY ¥ A @ |
2% %9 GHE Wl ¥ AX SHa! M I |

A 5 Rl Se & 9 | T @ |

qH T ¥ - .

(A) 25 flig. (B) 30 ferliE

(C) 15 falifd. (D) 20 fei,

sl 1 @gNDmEsuua !
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Which of the following is an equation ?
Fret % & @ om e ¥ 7 |
A) x=0

B) x+220

(€C) 9-5=4

D) G+ )% =x% +2xp +y°

The average salary of a group of unskilled
workers is ¥ 10,000 and that of a group of
skilled workers is ¥ 15,000. If the
combined average salary is ¥ 12,000, then
the percentage of skilled workers is -

I bl b TH TYE H ofwa AT
% 10,000 ¥ @ P AR & R W@
a1 T 15,000 ¥ | afs 37 TR &1 €Y
afraa 9 % 12,000 &1, T HTT AT
i & —
(A) 30%

(©) 50%

(B) 40%
(D) 60%

If log;p2=03010, the value of
logs 1024 is -

afy log;y2=0.3010, 7 logs 1024 @
M % -

(A) 4.306
(C) 6.931

(B) 3.010
(D) 1.386

< &1 indiresult.in whatsapp - 9352018749

A right angle triangle has height 12 cm
and base 4 cm. The area of triangle is :

(A) 12 sq. cm (B) 48 sq. cm
(C) 24 sq. cm (D) 32 sq. cm

T gEa Bge @ $ag 12 T

3MET 4 T & | Braget o1 &rwd § ¢

(A) 2 ¥ (B) 48 T W
© 24T & (D) 32 A
[PT.O.
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In which ratio the point (-3, p) divides the
line segment joining the points (-5, —4)
and (-2, 3) ?

43 (-3, p) he ergum  Rigell (-5, 4)
qdql (-2, 3) B A T YEmEvs @l
fofsg st ¢ 7

(A) 2:3 @) 3:2

© 2:1 . D) 1

100g is what percent of 1 kg ? ,
100 7, 1 fReu o1 fopae wlitrera & 7
A) 1% B) 10%

(©) 100% (D) 1000%

Two numbers are in the ratio 6 : 7. If 4 is
added to each of the numbers, the ratio
becomes 13 : 15, then the smaller number
is -

g degresll & o9 6:7 % | ARk
e # 4 SIS Sl A IR 13: 15 %
W ¥, a9 B ' ¥ -

(A) 36 (B) 48

© 56{ (D) 60

The angle which is four times its
complement is -

T8 I, T ST Y BT B AR AT &
(A) 60° (B) 68°
(€) 72° (D) 75°

A shopkeeper offers his customers 10%
discount and still makes a profit of 26%.
What is the actual cost price to the
shopkeeper of an article marked ¥ 280 ?
Ueh GHMER 39 UEH B 10% B &
TR a1 ¥ feT 91 26% @ aiivia &
¥ 1% 280 siferat e 1 I H JHER &
o arafis e TR AT ?
(A) T 186.48 (B) T 200
(©) % 2072 (D) X 252
: L

61 I1 @lNDlRESUL‘ra
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The distance between the points P (2, -3)
-and Q (3, -2) is - ’

(A) V2 Units  (B) 52 Units

(C) 242 Units (D) 3v2 Units
frg P (2,-3)aumQ 3,-2) B A H g
% o

A 2 @mE B) 542 w8

© 22 mE (D) 342 T

%) NDiReSuLTE

R

In which quadrant both abs01ssa and
ordinate are negative ?

(A) First (B) Second

(C) Third (D) Fourth

form Tgaiar § 9 qun B A WIS
Y ?

(A) 9| B) feim %
(©) g (D) =gd

The compound interest on ¥ 10 lakh at

8% per annum is ¥ 2,59,712. When interest

is compounded yearly then the time period

is -

(A) 2 years (B) 3 years

(C) 4 years (D) 5 years

% 10 1T &1 8% e #1 3T | TRahs

=Tl % 2,59,712 % | S 1T 1fiien < 81

a9 TEEt ¥ - |

(A) 2 99 B) 3 a9

©) 499 (D) 594
indiresult.in whatsapp - 9352018749 |

If the selling price of 20 articles is the

same as the cost price of 23 articles, then
the profit percent is -

iy 20 axgslt &1 fespa gwa 23 aggell &
T e b T §, A9 9wl ¥ -
(A) 10% (B) 11.5%

©) 15% (D) 30%

[PTO.
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Which of the following is not a rabi crop ?

(A) Rice (B) Wheat

(C) Barley (D) Masoor

= § 9 @E W 9 wed T g 7
(A) T - ®) %

© st (D) A{gT

Which of the foIloWing is not an agro-
based industry ?

(A) Edible il  (B) Khandsari

- (C) Papar — Bhujia (D) Cement

f & & S giv—omuia sam 7@
%7

(A) @™ s (B) @o=ard

(C) u"s - g (D) dFve

As per recommendations of Fifth State ,k

Finance Commission of Rajasthan,
distribution of the allocated resources for

local bodies, is to be made in the ratioof - |
(A) 75.10% to rural bodies and 24.90% |

to urban bodies

(B) 70% to rural bodies and 30% to urban
bodies

(C) 40% to rural bodies and 60% to urban
bodies

(D) 50:50 to both rural and urban bodies

TSTRIT % qted T ey smman & Rafeal

% STER W e @l strafed et

%1 faaTor orque § -

(A) 75.10% ariir freral & ofi 24.90%
ey freml @ |

(B) 70% wmiror Praerdt w T 30% srs'&
el

(C) 40% wriiv Fraral @ Td 60% Ed |

fremat =t
(D) 50:50 S wrfr wd gredy el &
e |

o1 1] B"PRESUTE
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Which Article of the Constitution deals

with  powers, authorities and
responsibilities of Panchayats ?

sty ot Rl q defa & 7
(A) 243 (A) (B) 356 (B)

(©) 357 (D) 243 (G)

When was Central Arid Zone Research
Institute set up ?

foan Tt o ?
(A) 1971 (B) 1966
(C) 1959 (D) 1985

Which of the following institutes purchases
handicraft items directly from the craft
persons ?

P A Y PR den calft A

T BTV I BRAINTET SRgatt ®l wlad
T ?

(A) RIICO
(C) RAJSICO

(B) RFC
(D) RBI

Who conceived the idea of the Indira
Gandhi Canal Project ?

~ (A) Mohanlal Sukhadia

(B) Jawaharlal Nehru

(C) Jainarayan Vyas

(D) Kanwar Sain

gfe it oY ufwdier @t e &5@?
feam @ suw ¥ 7 -
(A) AT gatsa

(B) SR &

(C) STy ="

(D) HaX ¥

indiresult.in whatsapp - 9552018749

How many districts of Rajasthan are
covered by Thar desert ?

o % et Rl ¥ o Y S
T T ?
(A) 5 (B) 6
©) 7 D) 12
[PT.O. .
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59 When was Rajasthan State Mineral

60

61

65] J‘
{a INDIRESULTH

Development  Corporation  Ltd.

amalgamated with Rajasthan State Mines

and Minerals Ltd. ?

(A) 20 January 1990

(B) 26 December 1995

(C) 1 March 2000

(D) 19 February 2003

TSI o Gt faea fg fa @
faea TRy TeT @W T @i o
%Y gor ?

(A) 20 sal 1990

(B) 26 fxa=T 1995

(C) 1 9t 2000

(D) 19 ®BTEd 2003

What is Saksham Yojana under Sarva
Shiksha Abhiyan implemented in
Rajasthan ?

(A) It ensures self employment to youth.
(B) It gives self defensive training to girls.

(C) It gives skill development training to

youth.
D) It gives
housewives.

TOE ¥ g9 ©® 99 foen ofme %

SRl e I R ¥ 7

(A) T2 gar @rtt & WReFIR ghfyaa &
¥

®) usaxﬁ«meﬁa?rm%mafsrm
TR

(C) 9% gam @F1 ol BT febrr ot wfyreror
IR

(D) 95 JRARY & S Aferl 3N T

insurance policy to

What is the share of Government of
Rajasthan and Hindustan Petroleum
Corporation Ltd. in Rajasthan Refinery ?

IO o § U9 9t oY

fegaart giferam P for. ot Resdrardy feett
¥ ?

(A) 74 : 26 B) 26 : 74

(C) 75 : 25 D) 25 : 75

YOUR EUCCESS PARTMNER
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65
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In which of the Iow1;;g district industrial
centres of Rajasthan not a single large scale
industry is operating ason 31 March 2017 ?
(A) Dausa (B) Jalore

(C) Pratapgarh (D) All of these ~
1 & 9 woraw % few R sieifes
%% ¥ 31 A 2017 % T W 93 T @
TENT BRI TS a1

(A) < (B) ST

(C) e (D) T gt

Which of the following is first Super
Thermal Power Plant of Rajasthan ?
(A) Suratgarh Super Thermal Power Plant
(B) Kota Thermal Power Plant
(C) Chhabra Thermal Power Plant
(D) Dholpur Gas Thermal Power Plant
e % o @FEr (RN &1 9Ee BAIS
A g Wi ¥ 7
(A) gXaTe YO AN UrEY Wie

 (B) BRI AN YET Wi
(C) ®¥e1 A 9rEy Wi
(D) 9\ W A e T

Rajasthan has ______. percent Felspar
reserves of the country.

TSI H <91 & bIREI GRS R
SR ¥ |

(A) 100 (B) 50

(©) 33 (D) 66
indiresult.in whatsapp - 9352018749
Which of the following power projects of
Rajasthan is under state's complete
ownership ?
(A) Chambal Project
(B) Beas Project
(C) Mahi Project
(D) Satpura Project
frefafag 9 Tongm A B foaEga
IR T & @ B gl @i el
UG % 7
(A) T IRENHT (B) sI@ i

(C) #Té ufEieFT (D) wagst ufEerT

[PTO.
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66 Name the Ruler of Jaipur who served the
Mughal Court constantly during the reign
of Mughal Emperors viz. Shahjahan and
Aurangzeb.

(A) Raja Man Singh

(B) Mirza Raja Jai Singh

(C) Maharaja Sawai Jai Singh

(D) Raja Bhagwan Das

A §1E9TTE qESEl ofX SiY &
eI H Friat P SR § B B
Il STAYY % IMESH Bl TH qAR |

(A) TS 9MRE

(B) Rt on srafds

(C) werwn wars saRis

(D) TS WM 8

67 Who was the founder ruler of Kota State ?
(A) Madho Singh (B) Mukund Singh
(C) Kishore Singh (D) Ram Singh
BT TS %1 WIS 9 B o1 ?
(A) TrEfeE (B) gpfie
(©) fremiis (D) ks

68 In which Hindu month (V.S is Teja
Dashmi celebrated ?
(A) Asoj (B) Shravan
(C) Bhadrapad (D) Kartik
fow feq wm (fd) & domeenh g

SR
(A) TS (B) ArEor
(C) WEvE (D) &ifi®

69 Champakali ornament is worn on which
part of the body ?

(A) Neck (B) Head

(C) Forehead (D) Ear

THTeRE ST STOX % R o7 aX we
W % 7

(A) TS (B) T

€) A (D) &

o1 [T @nNomEsuE
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Who proposed formation of 'Hadauti -

Sangh' to integrate the smaller states of
South Rajputana ?

(A) N. B. Gadgil

(B) Maharao Bhim Singh of Kota

(C) Maharao Bahadur Singh of Bundi
(D) Gokul Lal Asawa

& & fu fee T @9 TN @
W fean ?

(A) T, 9. TR

(B) werE HiE (@)

(C) wertg wEigRiE (§2)

(D) TPpe T STETE

Which ruler of Jaipur composed poems
under the pen-name 'Brijnidhi' ?

(A) Sawai Jai Singh ‘

(B) Sawai Pratap Singh

(C) Sawai Prithvi Singh

(D) Ishwari Singh

YR F BTG EE B ¥ amr
UM Fery foed 47 '
(A) gas raRie

(B) 945 YA

(C) ¥aR yeRiE

(D) syarditie

Who founded Vardhman Vidyalaya in
Jaipur ?

(A) Vijay Singh Pathlk

(B) Tikaram Paliwal

(C) Arjun Lal Sethi

(D) Heera Lal Shastri

AR ¥ e frem @ e mﬁ

@ ? indiresult.in whatsapp 9352018749
(A) faeraftie aiie

(B) UM UTEET

(C) st ¥

(D) € el

[ P.TO.
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73  Who among the following was one of the | 76  Match the following Wildlife Sanctuaries
leader of the revolt of 1857 in Kota ? with their correct locations :
: i) R h Dhol
(A) Jaidayal ® sxfsrmy (8] Pholpur
(B) Nand Kishore (i) Jawahar Sagar (b) Churu
(C) Kanhaiyalal | Sanctuary °
(iii) Van Vihar (c) Bundi
(D) Kushal Singh Sanctuary
Prefifae ¥ & @ B ¥ 1857 % (iv) Teal Chhappar () Alwar
L v Sanctuary
BN T g on? ‘ (v) Sariska (e) Kota
(A)-STUEO™ Sanctuary
B)- 7= Rrelt Frr=ifofae a=aolia eramval &l S et |l
¢ | omfafe & Prom :
(©) T @) (@) g
o (if) STOET GFX (b) g&
74  Which is the most popular Rajasthani song (iii) a1 faere (c) gt
which describes the beauty of a young ST
girl ? ' (v) T BER () SR
(A) Kurja (B) Mumal | ST
(C) Sapna (D) Gorbandh (v) wfves () @I
e R TRy e T g % et e
o e 0@ )@
(A) FTT (B) 7ot A (@ @ @ @© O
. B @ ® @ @ ©
(©) wr (@) T © © © @ O @
, ® @ @ © O (@
75 Where is the temple of Goddess Tripura lnd{re-sult.-n whateapp - 9352018.749
Sundari situated ? 77 Which tree leaves are used for making
, 'bidi' ?
(A) Banswara (B) Udaipur (A) Palash (B) Dhokda
(C) Dungarpur (D) Chittor (C) Tendu (D) Teak
Prga el 3w T wwt Ro ¥7 ?;?gfrﬁu‘rwwm%’ﬁw
(A) SigarET (B) SEAR (A) TR (B) eewst
© ERE , O frds v (C) g, (D) WFTEH
6 2, 12 » P.T.O.
si 11 (#)INDIRESULTE (P
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78 The Gajner Wildlife Sanctuary is located

in which district of Rajasthan ?
(A) Hanumangarh (B) Bikaner

(C) Churu (D) Sikar

T SIS ST TR %, A
(A) TgITE  (B) WA

© g8 D) ‘éﬁib'(

79  Tharparkar breed is found in whlch regmn

of Rajasthan ? o
(A) Western Arid region
(B) Shekhawati region 4
(C) Eastern region

(D) South-East region

ﬁwﬁiﬁaaﬁ%wmﬂaaaﬁw&@aﬁ

ool

AUTTHT T T8 oy & 7

(A) ufverlt g &5
(B) et &
(D) aho-gd &
80 Red loam soil is found in dxstnc{gf :
(A) Sirohi (B) Kota .
(C) Dungarpur (D) Bikaner .
(A) R B) ®
© $mE ©) T

81 ‘Nathra ki Pal’ mine is located m d;strxct

of :

(A) Ajmer (B) Udaipur

(C) Sirohi (D) Barmer
e A e @ few e A azarﬁaa
T

(A) ST (B) SR

©) fatd (D) AT

o
o1 T]  @WoiResuLTE
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83

84

ssssssss

'Luni Basin' is a part of whlch broad
Physiographic division of Rajasthan ?
(A) Eastern Plain

(B) Western Desert

(C) Aravalli Hilly Region

(D) South-Eastern Plateau

T %1 TE A B ?

(A) & FEF

(B) wieml wowd

(C) TR UETSI ST

(D) fu—gdl wer

Which of the following is with gentle slope
on sand dunes windward side and steep
slope on leeward side ?

(A) Longitudinal (B) Transverse

(C) Barchan (D) Nebkha
frerifera & Q BFET IGH WU T TG
T 9 e Gl oI 9 e § ¢
(A) Fges (B) A

(C) sw@H (D) E@n

Which of the following Tehsil has the
highest density of Sahariya tribe in °

Rajasthan ?- ‘
(A) Dhariyabad  (B) Kishanganj

(C) Chhabra (D) Mangrol

o § frefaiaa § 9 s aedw §
wefar sl @1 T it § ?

(A) gfeEEE B) frerrist

(C) BT (D) AT
indiresult.in whatsapp - 9352018749

Which of the fXYlowmg categories of forest
covers the maximum percent of area in

~ Rajasthan ?

(A) Private forest

(B) Unclassified forest
(C) Reserved forest
(D) Protected forest

freiifea a9 SR 9 § o § feas
et gaifues wfera & omga § 7
(A) Tl &= (B) srerfiga o
(C) art@ e (D) €@ =

[PTO.
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86

87

88

89

Varun-18 is an exercise related to which
one of the following ?

(A) Naval

(B) Military

(C) Airforce

(D) Disaster Relief Force

TE-18 9% g P ¥ R P Q.

wahgg T ? |
(A) =T (B) ge@T
(C) =argEs (D) smyer wed @

According to Budget announcement
2018-19 what will be the salary of
Asha Sahyogini in Rajasthan ?

2018-19 @l S =Y & SFYHIX oA
H ‘een WEUift BT A B ?
(A) % 1,850 (B) X 2,000

(©) T 2,500 (D) X 2,200

Which one of the following Military
stations will be developed as smart facility
under the Smart City Mission ?

(A) Bhatinda (B) Wheeler Island
(C) Jaisalmer (D) Jodhpur
trfefea & @ P Ped 2w e
Rrét Prem % asq W BRRS &% =T A
Tepita fomar smom 2

(A) wHfevst ~ (B) =T

(©) SR (D) whEge

In Rajasthan on which one of the following

dates, the second phase of ‘Mukhyamantri

Bhamashah Swasthya Bima Yojana’ was
started ?

(A) 1 Jan,, 2018 (B) 26 Jan, 2018
(C) 25 Nov, 2017 (D) 13 Dec., 2017
e f e ¥ fee e gerh
HIIE ey {1 A & fad s
@1 A fom T 7

(A) 1 s9a8, 2018

(B) 26 s, 2018

(C) 25 99T, 2017
(D) 13 fegs, 2017

YOUR SUCCESS FPARTHER
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90 Omprakash M arwal has won which of

the following

medals in recent

Commonwealth Games ?

(A) Bronze (B) Gold

(©) Silver (D) None of these

sirventsT fretae 3 T & % rgmvsw

el 7 fr7 4 ¥ BWer wwe S ?

(A) @i (B) v

©) =@ D) 57 & BE T
91 The famous ‘Batadu Well’ is situated in

which of the following districts of

Rajasthan ?

(A) Barmer (B) Jaipur

(C) Bharatpur (D) Dausa

Rig ‘SRR ol womew % P A @

forg ot & Ror & 2

(@A) T (B) SR

(O) W@ (D) &rr

92 Ayushman Bharat

which one of the following sectors ?

(A) Education
(C) Finance

Wmﬁaﬁmmﬁwﬁ%

fradmat ?
(A) farem

D
in(gl)re@at.in whats(a Bp@-—q)352018749

93 Who among the following is the present
Central Vigilance Commissioner of India ? -

(A) Shri Sharad Kumar
(B) Dr. Tejendra Mohan
(C) K. V. Chowdhary

(D) Alok Verma

freffad & & i W@ % adue S

Hahar oge & ?
(A) A1 & PR

(B) =1. o "
©) &. &@. Nd

(D) ol IHi

Mission is related to

(B) Health
(D) Sports

(B) @y

[PTO.
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'Gararda Vrihad Peyjal Pariyojna’ is related
to which of the following district of
Rajasthan ?
(A) Bundi
(C) Kota

9%

-(B) Baran
(D) Jhalawar

fAdafra e g aafaa 7
(A) 92 (B) It
(C) B (D) TS

95  What is the current Repo Rate in India, as

per the announcements made by Reserve
Bank of India in June 2018 ?

ford % ot sReam T S 2018 ¥ &Y
ns‘a‘swaﬁé’saﬂwmﬁaﬁmﬁ
THRE ?
(A) 625%
(C) 5.75%

B) 6%
(D) 6.1%

96 In which one of the following cities, the
Government of India will establish India's
largest data centre ?

(A) Bengaluru (B) Bhopal

(C) Indore (D) Jaipur

1 & @ fope 98T HIE aXa AR @
T §91 31T WXl wOn ?

(A) dT@ (B) e

©) =R (D) g

National Digital Library of India is a

project of which one of the following

ministries ?

(A) Ministry of Finance

(B) Ministry of Education, Sc1ence and
Technology

(C) Ministry of Information Technology

(D) Ministry of Human Resource
Development

| B T ffrew wgerd Frataiaa
Fyfpg @ A WS & 7

(A) T w=eg

(B) fyren, fasm 9 awiel "@™

(C) o q&-iienl Hed ‘~

(D) wa gareF e T

o1 11 @lNDmESUL‘rE
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What is the new name of the ‘Sports
Authority of India’ ?

(A) Central Sports Authority
(B) Department of Sports
(C) Authority of Sports

(D) Sports India

®|MT 7

(A) =z Weg el
(B) feurda= offs wWiid

(C) N & wWed

(D) whég sivsar

Who among the following is the 21%
Lieutenant Governor of Delhi ? '

(A) Anil Baijal

(B) Tejendra Khanna
(C) Najeeb Jung

(D) Arvind Kejriwal

P § @ o et & 219 suTwuTe ¥ 7

(A) e I

(B) a9 @

(C) ToIE w7

(D) sXfas erdiaTet

indiresult.in whatsap}g 9352018749
What is the aim of Van Dhan Scheme of

Government of India ?
(A) Increasing forest cover

(B) Restriction on slash and burn
agriculture

(C) Preserving Biodiversity

(D) Empowering Tribal communities
economically

T TLHT & I UF AT Bl AT TS 7
(A) TET TOET

(B) &3l T8 §° @A WX gREw

(C) Srafafqear dxaor

(D) SieTieral ®1 onfiies AgeRTeR LT

[PT.O.



YO UR SUCCESS PARTNER

indiresult.in whatsapp - 9352018749 ~ C.'?// INDIRESULTH

GRS R

101 Pyramid of energy 104 In which form, does water occur in gaseous
(A) is always inverted. state in the atmosphere ?
(B) can be both inverted or upright. (A) Snow particles (B) Water drop
(C) is always upright. (C) Water vapour (D) All of these © |
(D) is inverted only for sea ecosystem. qrguvew ¥ o, e oreen ¥ fhg w9 §
st fiehe | T e ¥ 7
(A) 939 I@r sraen ¥ o ¥ | (A) f&m 3o (B) 9@ g
‘(B)gﬁam@@ﬁmﬁﬁm (C) Toar (D) T 7l |

| _

(€) 99 @I e N wew ¥ 105 Which of the three ‘R’s are regarded as |
(D) et % W H SHe oreRen ¥ environment friendly ?
B F | : (A) Reduce, Reuse, Recycle
(B) Reduce, Recreate, Reuse
(C) Repeat, Reorder, Recreate

102 Who was awarded with the Nobel Prize
in 1975 for the discovery of ‘Central

Dogma Reverse’ 2 | (D) Recyc:le; Reorder, Repeat
(A) Monad (B) Dalton Frafafaa # @ &9 9 & R’ wfeRor &
(C) Khorana (D) Baltimore AR W WA § 7

T o fad & 9w % fog g (A) B9 BT, YF: SN, TAIEH
1975 % o YT@R ¥ fewel gt (B) ® FTT, T I, T S

forar T ?

' (C) gaRrErdq, g =mafted, g S
(A) 99 (B) =T D) -3 e
(C) FIMAT (D) TEER () TmT, O A 3

indiresult.in whatsapp - 9352018749
106 For control of which disease is the triple

103 The flow of energy in an ecosystem
‘ antigen (D, P, T) administered to children ?

follows the laws of

G

(A) Kinetics (A) Diphtheria, Pertussis, Tetanus

(B) Thermodynamics (B) Diphtheria, Polio, Tetanus

(C) Probability (C) Diphtheria, Pertussis, Typhoid

(D) Photochemistry ' (D) Dengue, Polio, Typhoid

T TiiRafae o ¥ Swt ware R wrl st @Y feuet wedie (D, P, T) fome T o
% oge B ¥ ? A A T ? §
(A) et (A) Fowedifan, pgrard, Rt

(B) St | B) fewehfe, difm, feoa

() e | (©) feudifcen, e, TwEs

(D) gemteredrad D) ¥, G, zawiaE

o1 TE#NDIRESULTE [% '
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107 In which year was the Indian Patents Act | 111 Which of the fol owing is the largest

passed ? ecosystem in the world ?
forg o o AT Y ittt wia gen (A) Desert ecosystem
qr v (B) Grassland ecosystem
(A) 1960 (B) 1970 (C) Ocean ecosystem
(C) 1980 (D) 1990 (D) Forest ecosystem
faea o ge@ w1 uiRafe &3 dF-w
108 Central dogma in molecular biology was e

f/r&.(;poGS:edg:ryMendeI | (A) =
(B) Thomas Hunt Morgan B) W aTiRRerfoer <
(C) Frederich Griffith (C) R aitfafas! &=
(D) Francis Crick (D) Tifrast gTiRafoas o=
arifaes St fasm 7 @ fagia @ ?cﬁrrt

A A fbn o 112 The most common cause of anaemia in
(A) IR Hew | our country is
(B) um\E ¥ UPH : (A) Iron deficiency
(€) %t Ry (B) Magnesium deficiency
(D) wifag fra  (C) Potassium deficiency

(D) Calcium deficiency
109 Which of the following is used as an I 39 ¥ g @ w99 w91 o fre

anticoagulant in blood transfusion ? Fufraaa sl sl ¢ ?
(A) Sodium citrate ) @ (B) Arhfyrm
(B) Sodium acetate © AT e (D) e

(C) Sodium carbonate
(D) Sodium nitrate : . .
RrefiRag & & Frg ware @1 ¥ 113 How many contrasting characters did

- Mendel select for his experiments ?
?
T Y qE SuanT R o ¥ Soee 3 st oG Ru RSP

A) Aiftas Rz
EB; W& g & ?
. SRR A) 7 (B) 8
‘i‘,igq" I ©) 9 ‘ D) 10
(D) wifsT ez indiresult.in whatsapp - 9352018749

114 Who proposed the chromosomal theory of
inheritance ?
(A) Lamarck (B) Darwin

110 The nitrogenous base found in place of
Thiamine in RNA molecule is
(A) Uracil (B) Guanine

(C) Cytosine (D) Adenine (C) Hooker . (D) Sutton .
ALY, o ¥ P F @ W 9 forq defes w1 demta w1 Ry R
W G RN 86 § yga feean ? ,
@ TRE (@) e (A) fh ®) THRm
© wERkm  (©) WP (©) T D) T

s I1(#NDiResuLTe Y . . [erO
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115 An electric motor converts :

(A) Mechanical energy into electrical
energy.

(B) Electrical energy into mechanical
energy. ,
(C) Heat energy into mechanical energy.

(D) Eddy currents energy into mechanical
_energy.

% fReE AT ¥ s o ko
(A) s St w1 R ot & |
(B) foga el &1 oo &=t A |
(C) &S SSil & Ui+ oot § |
(D) ¥aR 4T &i St @t AT ol A |

116 The frequency of direct current is :
(A) Zero B) 50 Hz
(C) 100 Hz (D) 220 Hz
A) ™= (B) 50 Hz
(D) 220 Hz

(C) 100 Hz

A ray of light is made incident on a
concave mirror, parallel to its principal
axis. After reflection it will -
(A) pass through the centre of curvature
(B) 'mQVe parallel to the principal axis of
. the mirror
(C) pass through the pole of the mirror
(D) pass through the prircipal focus
Y W T BT U ermw dU W
3T g e % WA SR Y S
¥ | wreds % gyeg TE -
(A) o B | Torel
(B) =Y % YT & % GAMRAL M B
(C) T & ga § T
(D) 'g@:r Bied | IO

61 H@lNDlRESULTE
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118 A plano convex lens (u = 1.5) with radius

v of curvature 20 c¢m is silvered at the curved
surface. The power of the system is -

. U% g9aEEE @ (u=1.5) @ 9% §aE
%1 gonan Frear 20 €1 2 1 39 O @ 9%
g W ud W R B Y
 Trem @t @war (power) BRI —
(A 15D B) 10D
- (©) 5D (D) 25D
119 Lenz's law is a consequence of :
, (A) Conservation of charge
_ (B) Conservation of momentum
-~ (©) Conservation of energy
. (D) Conservation of current

(A) S F HIAT Bl
~ (B) €T % €I @
- (C) vt ¥ wE w
(D) T % WA w

Which lamp is used as indicator in an
electric tester ?

(A) Sodium lamp (B) Mercury lamp
(Cy Neon lamp (D) Tungsten lamp
- foga TR ¥ AW O qEs % w9 A
- sEEm R o ¥ 7
(A GREmAm (B) THY AW
 ©fERdm (D) TwR A
- indiresult.in whatsapp - 9352018749
121 The unit of rate of flow of electric charge
o s -
(A) Volt
(C) Ampere

120

(B) Mho
(D) Ohm

T RN F e R B ATEE —

(A) T
(C) TR

(B) =i
(D) oM

[PTO.
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122 When white light is incident on a green | 124 [-V graph for a (conductor metallic wire

123

leaf

(A) the green colour is mostly absorbed
by the leaf.

(B) the green colour is mostly reﬂected
by the leaf.

(C) all the colours except green are

reflected by the leaf.

(D) all the colours are equally absorbed
by the leaf,

WE‘&‘H’%WWWWG{W@W%

o

(A) qﬁ%mg@wéwmmﬁm
B ¥ |

(B)ﬁ%mg@w%wwwaﬁa
BT E |

(C)qﬁasms%m%mﬁrﬁaaam
gl 1 yrafia B ¥ o ‘

(D)tﬁﬁ%mmﬁvﬁiﬁraasﬁww
WY AT |

The defect of eye, that arises due to the
cornea of the eye having different
curvatures in the horizontal and vertical
planes, is known as :

(A) Long sightedness
(B) Short sightedness
(C) Presbyopia

(D) Astigmatism

at two temperatures T, and T, is shown in
the figure, then -

I

<\

A T,>T,

B) T, >T,;

© T,=T1,

(D) Cannot be determined from this
graph.

@ﬂwm%mamnag

WLV dahe e mn d, @ -

a%gﬁzﬁqvﬁma%wﬁmﬁrm% .
%ﬁaamaw%maa‘rﬁﬁm@%%m \7

SE BT ¥, HEENT ¥

(A) E?rsfgﬁz l(%ltrelsgl’tr;n whatsapp 9352018749
(B) Froe gie (B) T, > T,

(C) wru g © T -1

(D)’\Tﬂz‘ﬁﬁw (D)Sﬂmﬁqrqqaé’rﬁmmmt

61 [T @mpguﬁagsuua |
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125 If 2 A of current is flowing in a conductor
from a battery of 5V, then the resistance
of the conductor is :

(A) 2 Ohm (B) 2.5 Ohm
(C) 0.4 Ohm (D) 10 Ohm
Sde B R Aokl ams ¥ 2 A

%! 4T yanfed B 3, o T & yky
e

(A) 2 W

(C) 0.4 3im

(B) 2.5
(D) 10 a0y

126 The law of reflection, 'Angle of incidence
is equal to the angle of reflection!, is true
for reflection of a ray of light on -

(A) Plane surface only

(B) Concave surface only

(C) Convex surface only

(D) All of these

% UL BT ¥ B B UH e &
e % o e E -

(A) %o GHAW 9de & o

(B) Faw rEaw Gag &

(C) %aw 3 |aE & o

D) I Tl

127 Which of the following cells can not
produce continuous and constant current
for a longer time ?

(A) Lead accumulator cell

(B) Edison's cell

(C) Daniel cell

(D) Lechlanche cell

e Ot & @ fow 99 ¥ free @ P
URT T T % T gt TE ot 91 gl
T 7

(A) 91 daras 9

(B) TSHT W@

(C) sfmw &«

(D) ?ﬁmis‘r e
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128 A lens behaves as diverging lens in air
(u=1) and converging lens in water -

(4 = 1.3). The refractive index (1) of the
material of the lens is

TH o qg (u=1) ¥ ol & w
T (p=13) ¥ afmwrd & % @
YIER BT & | 7T % Ia1ef &7 Ui

() &
(A 10<pu<13 B) u>1.3
1.0+1.3
©) u<io D) pu= 5 :

129 Which is an example of physical change ?
(A) Metal rusting
(B) Silver tarnishing
(C) Water boiling
(D) Paper burning
1 & @ @ Wifie afted &t Saeww
T 7
(A) ST W
(B) €IS @1 &I BT
(C) U™l &1 ST
(D) ®TTS & ST

130 In the reaction KMnO, + H,C,0, +.....
— MnO, + CO, +.......... , equivalent
weight of KMnOy, is 52.66, then molecular
weight of KMnO, is

, G’lﬂ?ﬁ?m KMnO4 + H2C204 +.on —

MnO, + CO, +.......... , % de¥ § KMnO,
W g W 52.66 ¥ @ KMnO, @
SYHR & —

(A) 158.04 (B) 52.66

() 31.6 (D) 263.30

indiresult.in whatsapp - 9352018749
131 In which compound the oxidation number
of oxygen is positive ?

frr 4 9 fopm dife 9, GITEFEﬁﬁﬂ ﬁ
ATFRIHT HET ¥ATHE & 7

(A) H202 (B) Na202

(C©) H,0 (D) OF,

[PTO.

LDC_Exam 2018 (1st Paper)

SRR

SRR




132 Which of the following compound is
aromatic according to Huckel's rule ?

¥ frem % orar P § @ R Ao
wiHfem ¥ 7 |

(B)
H

(D) H,C CH,

How many structural isomers are possible
for Pentane ?

(A) 0
©) 2

B) 1
D) 3

which has the highest ozone depletion
potential ?

el % 4 TETT BTl W |/ BIET Sy
SIS raery eFar e ¥ 7
(A) CFCs (B) HCFCs
(C) HECs (D) LTCs
}135 White lead is
g 9| (@) ¥ -
(A) PbCO,

(B) PbCO, - PbO
 (C) Pb(OH), - 2PbCO,
(D) PbSO, - PbO

11 @

INDIRESULTE

YOUWR SEUVCOESS PARTNER
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YR & e @ e quTEa g ¥ 7 |

Among the 4 common type of refrigerants
138
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//1
Monomer units of Nylon 6, 6 are —
(A) Adipic acid and Hexamethylenediamine
(B) Terephthalic acid and Ethyleneglycol
(C) Sebacic acid and Terephthalic acid

(D) Terephthalic acid and Methanol

IR 6, 6 B Unaw sHEAl ¥ -

(A) TN o 9 TRMREFeETE
(B) THife ot 9 FURAFTEESE
(©) Rl o g Sxedifve o
(D) Tewdfores et 9 AT

Select the correct statement about

thermosetting polymers —

(A) Don't melt or soften on heating.

(B) These are cross-linked polymers.

(C) Cross-linking occurs during heating
and when it cools it hardens
irreversibly.

(D) All of these

a9ge SEDl % T W R w1 waw

BT

(A) ™ & WA fawd ¥ 78
T :

(B) ¥ fdiwas qgos ¢ |

(©) ™ & W frfs 949 T W@ @
frmToT gl % o w19 3 SR B ¥ |
YT SATSHANYT T T FOR SN T |

(D) 3 af

indiresult.in whatsapp - 9352018749

Activity of heterogeneous catalysis

depends upon :

(A) total surface area only

(B) the number of active sites per unit
amount of catalyst only

(C) method of preparation only

(D) total surface area, number of active
sites and method of preparation

feromielt ST @t wieeaar frfe walt @ -

(A) a0 T T §I%A T

(B) %aw Whpg &l A & uid IR
SO B AET TT

(C) &g TR =t fafr 1

(D) F¢ Y &I%d, Gltsa Hl B &
Te S @ fafy
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139 The elements which are good catalysts and | 142 Match List-I with List-Il and select the

have the ability to change their oxidation correct answer using the code given below
number are the lists :
(A) Transition elements List-I List-II
(B) Noble gases (i) PVC (a) Thermosetting
. I
(C) Alkalis metals . e
(ii) Bakelite (b) Thermoplastic
(D) All of these polymer
T IS T SRIHTT G Hl G50 (iii) Vulcanized (c) Fibre .
%I AT e A q ¥ - rubber |
(A) HBHT T (iv) Nylon 6  (d) Elastomers
(B) e | %Ia;rg:—nﬁﬁmﬁaﬁmwam
. HiT %1 WA % el T A/
© W g | TG BT :
) 0 | frel . fwen
140 Correct electronic configuration of @ ‘ﬁj_cﬁ‘m‘ (&) dMgE Sgaw .
chromium (Cr) is — (i) SeheTSe (b) TUGHST TEEH
HIRET (Cr) &1 9E) Soaeitme R & — (iif) TBIPT WX (c) BRIT ()
(A) 3d%4s? (B) 3d%s! (v) -6 () WOTRY TEAE
(C) 3d34s? (D) 3d%4s! Code /¥ : ;
8 p . L d .. o vae = c‘ : :
141 NH, has a much higher bp. than PH; | D @~ @@ -O W) -@ ) -©
because B) (@ - (b) (ii) - (a) (i) - (d) (V) - (©)
(A) NH; has a larger molecular weight (©) () - (@ @i) - (b) (i) - (¢) (v) - (@
(B) NHj; undergoes umbrella inversion D) @) - (b) (i) - (a) (ii) - () (v) - @)
(0] Fth oo hydiogen b indiresult.in whatsapp - 9352018749
(D) NH3 contains ionic bonds whereas 143 company introduced emoji .
PH; contains covalent bonds internationally on their mobile devices.
PH, %1 gel ¥ NH, %1 Faei% a7t gt (A) Samsung  (B) Nokia
T wife ; (C) Apple (D) Motorola
(A) NH, &1 onfvae 99 ST B & HUA 1 AU & YT HSH
(B) NH; ¥ omrem wwaisf orr ¥ (emoji) @I WRe o A AR H
_ . . T |
C) NH, ¥ ®Egior €Y & &I . '
e 3:3; . - (A) ¥TET (B) S
(D) NH, ¥ amafes su Tafs PH, | - | |
. . : D
4 geddes ¥4 , o @ tetm
651 H(f/ LTE 2 ; [PTO.
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144 Every XML document must begin with a | 147 The web browser available with first
graphical user interface was -

(A) Root element (A) Opera (B) Chrome

(B) Child element (C) Erwise (D) Firefox
(C) XML version details | qU Mithwa ot 30T & WY Towe
(D) XML attribute 99 SOV AT
WWW“%HW (4) i ®) #H
ST BT iRy (C) Warsw (D) BHETHR
(= v ( 148 The statement i ++; is equivalent to :
() o vt | A) i=i+i
 (C) wwuHUE T fEro B) i=i+1;
(D) THTATH Tdiege ©i=i-1;
D) i
145 Open source tool used for spatial data a0 e
analysis is A i=i+i%
wsm%aﬁaﬁw%mmﬁaﬁ B i=i+1;%
W@W@ﬁ{ﬁ%* ‘ (C)z-—z—l,ai
(A) ArcGIS D i-— &
(B) IDRISI
~ (€) Oracle Spatialjet 149 India's first super computer PARAM 8000
(D) QGIS was launched in year ____

WIGE % TUT gUX BT T 8000

, : - |
is the first robot with Artificial g b ¥ fommn

146
Intelligence to fly in space. (A) 1990 (B) 1991
(A) CIMON : ‘ (C) 1989 D) 1992
(B) Valkyrie RS indiresult.in whatsapp - 9352018749
V (C) R oboh aut 150 is an Indian sofiware application '
developed by ISRO to explore 2D/3D
D) Spldernaut representation of earth surface.
Ftm gha (nfEfefme Rhmig) (A) Bhuvan (B) Bhumi
% T sfaiter § I A veen Qe T (C) Bhuyaan (D) Bhudev
(A) a3 ; YT @ §as & 2D3D  Fam/frewer @
(B) arafty ames ~ o T % fg g ara Rt
S Teh WY WFeITT TRIHI &
v (A) (B) W
(D) WEstHre o
©) g D) ¥
23 - [PT.O.
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